








19. " The table below gives the marks obtained. by 10 B.Com.,
Students 1n statistics - exammatlon “Calculate stangla_Ld
deviation. °

Nos.: 1 2 3 4°'5 6 7 8 9710
Marks: 43 48 65 57 31 60 37 48 178 59
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PART C — (3 x 10 = 30 marks)
Answer any THREE questions each in 500 words.
20. © What 1s mailed Quest1onna1re'7 L1st out 1ts various mer1ts and
demerits. :
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:21. Draw a two- d1mens1ona1 diagram to represent the followmg
data :

Expenditure in Rs.
Ttems Family — A Family — B

Food 200 - 300
Clothing _ 48 b
Education - 3?. 40
House Rent 40 75
' Miscellaneous 80 110
Total - 400 600
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el () eum_cns 40 : 75
B&r Hewajser 80 110
Qungpd 400 600

22. The monthly incomes of. 10 fami']_ie_s in r,upees in a certain village
are given below :

Family: 1 2 3 4 5 6 7 8 9 10
Income: 85 70 10 75 500 8 42 250 40 36
From the above. data calculate the Harmonic mean:
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23. * Compute mean deviation from mean from the fellowing data :

" Height : . 158 159 160 161 162 163 164 165 166

: (Centinﬂeter)

. No.of Persons: 15 20 32 35 33 22 20 10 8
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pUise cTarefléms: 156 20 32 35 33 22 20 10 8
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